# FACTS AND INFORMATION

SHANGRI-LA HOTEL, SYDNEY

#### LOCATION

Situated in the historic Rocks district in the heart of the city, Shangri-La Hotel, Sydney has breathtaking views of Sydney Harbour encompassing the Sydney Opera House and Harbour Bridge.

# ACCOMMODATION

Shangri-La Hotel, Sydney comprises 565 spacious and luxurious guest rooms and suites. All rooms have harbour views and are the largest in their class in the city. Exquisitely appointed with contemporary furnishings, rooms feature triple-glazed soundproofed windows, plush duvets and iHome docks.

### GUESTROOM FEATURES

- · Complimentary Wi-Fi Internet access
- · Large, triple glazed soundproofed windows
- · Marble bathroom with separate shower
- Electronic safe
- iHome dock
- · Bluetooth media hub in Deluxe and Executive Rooms
- Satellite / cable LCD TV and movie channels
- Mini-bar
- Pillow menu



## HORIZON CLUB PRIVILEGES

- Private lounge with commanding views of Sydney Harbour
- VIP check-in and check-out service
- Complimentary light buffet breakfast
- Complimentary afternoon tea, evening canapes and beverages
- Complimentary shoeshine service
- · Complimentary pressing one suit or dress

## BUSINESS CENTRE

Business facilities are available 24 hours in the Lobby Lounge with complimentary high-speed Internet access, email and printing services. Copying and fax facilities are available for in house guests through guest relations.

## RECREATION FACILITIES

- Health club
- Indoor heated swimming pool
- CHI, The Spa
- Sauna
- Sun deck

#### CHI, THE SPA AT SHANGRI-LA

Luxurious yet unpretentious, Shangri-La Hotel, Sydney is home to CHI, The Spa at Shangri-La. Inspired by traditional Asian healing philosophies, CHI treatments are based upon the principles of restoring balance and harmony to body and mind. Body massage, exercise, stretching, hydrotherapy, and movement of the mind through relaxation and meditation form the basis of the CHI, The Spa philosophy.

## OTHER SERVICES AND FACILITIES

- 24-hour in-room dining
- Baby-sitting / childcare
- · Laundry and valet service
- Complimentary Wi-Fi Internet access in all public areas
- Express check-in and check-out
- Non-smoking rooms
- Conference facilities
- Facilities for the physically challenged
- Postal / parcel service
- Foreign exchange
- Multi currency teller machine
- Safe deposit box
- · Taxi and limousine service
- Car rental
- Valet parking
- Lobby shop
- Florist

# RESTAURANTS AND BARS

Restaurants / Bars	Capacity	Capacity Location Cuisine		
Blu Bar on 36	150	Level 36	Contemporary cocktail bar	
Altitude Restaurant	100	Level 36	Modern Australian	
The Lobby Lounge & Terrace	120	Ground level	Refreshments and drinks	
In House Restaurant	190	Level 1	All-day dining	

# GUESTROOMS

Categories	Rooms	Area (m <sup>2</sup> )		
Deluxe Darling Harbour View Room	114	40 - 50		
Deluxe Opera House City View Room	118	40 - 50		
Deluxe Grand Harbour View Room	94	45 - 50		
Executive Darling Harbour View Room	36	40 - 50		
Executive Opera House City View Room	36	40 - 50		
Executive Grand Harbour View Room	29	45 - 50		
Premier Grand Harbour View Room	25	60		
Horizon Darling Harbour View Room	32	40		
Horizon Opera House City View Room	32	40		
Horizon Grand Harbour View Room	7	45 - 50		
Horizon Premier Grand Harbour View Room	4	60		
Executive Grand Harbour View Suite	23	83		
Horizon Grand Harbour View Suite	5	83		
Horizon Tower Suite	3	87		
Horizon Darling Harbour View Suite	2	77		
Ambassador Suite	1	105		
Grand Apartment	2	114		
Presidential Suite	1	170		
Royal Suite	1	242		

Venue F			Capacity			Dimensions	Area	Ceiling Height
	Reception	Theatre	Banquet	Classroom	Boardroom	(m)	(m <sup>2</sup> )	(m)
Level B - Ballroom								
Grand Ballroom I & II	850	800	500	400	•	29.2 x 23.0	670	4.15
Grand Ballroom I	400	350	200	180	•	14.5 x 23.0	325	4.15
Grand Ballroom II	400	320	220	200	•	14.5 x 23.0	330	4.15
Upper Lobby	200	•	•	•	•	20.5 x 8.0	165	2.70
Lobby	200	•	•	•	•	19.5 x 8.0	156	2.70
Ground Level								
Heritage Plaza	150	120	60	•	•	20.0 x 6.5	130	3.00
Heritage I	50	50	40	27	20	8.75 x 6.5	56	2.65
Heritage II	50	40	40	27	20	8.75 x 7.5	65	2.65
Heritage I & II	100	100	80	60	30	8.75 x 14.0	122	2.65
Level 1								
Bradfield Lounge	90	90	60	50	36	15.5 x 10.0	155	2.40
Harlequin Room	80	60	60	34	24	11.5 x 8.0	92	2.40
Level 3								
Cambridge I & II	50	50	40	24	20	13.0 x 4.6	70	2.70
Cambridge I, II & III	120	110	80	50	40	20.6 x 6.6	135	2.70
Cambridge II, III & IV	160	160	100	80	53	24.3 x 6.5	160	2.70
Cambridge I, II, III & IV	160	170	120	80	•	28.5 x 6.5	185	2.70
Cumberland	25	•	•	•	13	9.4 x 7.5	75	2.70
Essex I & II	90	100	60	48	30	18.2 x 5.9	115	2.70
Essex I	40	40	30	24	18	9.0 x 5.9	55	2.70
Essex II	40	40	30	24	18	9.0 x 5.9	55	2.70
Level 4 - Breakout Roon	ns							
Harbour 409	•	40	20	21	20	8.7 x 6.4	55	2.55
Harbour 411	•	•	•		10	4.3 x 6.5	28	2.55
Harbour 412		•	•	•	10	4.3 x 6.1	26	2.55
Opera 413					8	9.0 x 3.6	32	2.55
Quay 414	•			•	14	8.8 x 4.8	43	2.55

# BANQUET AND CONFERENCE ROOMS



Shangri-La Hotel, Sydney 176 Cumberland Street, The Rocks, Sydney, NSW 2000, Australia Tel: (61 2) 9250 6000 Fax: (61 2) 9250 6250 slsn@shangri-la.com www.shangri-la.com